
20.75.1705.01

شھادة الضمان ودلیل المستخدم



- 2 -

13.07.01.016 x 1

13.03.01.024 x 6
M6X15

13.07.01.093 x 1413.03.01.039 x 8
M6X55 

13.03.01.026 x 613.03.01.035 x 6
M6X40

13.01.01.111 x 2

1 / 5

13.07.01.440 x 1 13.07.01.441 x 1

13.03.01.023 x 2
M6X15

M6X20 

13.02.01.017 x 42

13.01.01.247 x 6 13.03.01.021 x 8
M6x13

13.10.01.339 x 613.07.02.162 x 2 13.03.01.019 x 2

18.00.2000.209 x 2 18.75.1705.255 x 113.07.02.189 x 1 13.07.02.172 x 2

4 / 5

3 / 52 / 51 / 5

5 / 5

18.72.1705.256 x 118.75.1705.253 x 2

13.06.01.190

18.72.1705.254

13.01.01.935 x 2

2 / 5

18.75.1705.057 x 1 18.75.1705.053 x 1 18.75.1705.252 x 1 

3 / 5

18.75.1705.051 x 1 18.75.1705.052 x 1 18.75.1705.251 x 1

18.75.1705.257 x 1



- 3 -

1

4 / 5

18.75.1705.056 x 1  

18.75.1705.054 x 2  

18.75.1705.055 x 1  

5 / 5

13.02.01.017 x 2

18.00.2000.209

!

18.75.1705.057  

!

13.02.01.017 x 24 

18.75.1705.257 x 2 

13.01.01.111 x 2

18.75.1705.052  

18.75.1705.051  

2



- 4 -

3

4

13.07.01.016

13.03.01.039 x 4
M6X55

18.75.1705.052  

18.75.1705.051  

18.75.1705.057  

! 13.02.01.017 x 2

18.00.2000.209

18.75.1705.253

18.75.1705.253

18.75.1705.053

13.02.01.017 x 4



- 5 -

5

6

13.02.01.017 x 4

18.75.1705.053

18.75.1705.054

13.03.01.021 x 4
M6x13

13.03.01.021 x 4
M6x13

13.01.01.935 x 2

13.07.02.172 x 2

13.07.02.162 x 2

13.03.01.019 x 2

13.07.02.189



- 6 -

8

7

13.07.01.441 13.07.01.441

1 2

13.07.01.440 13.07.01.440

1
2

18.75.1705.054

18.75.1705.055



- 7 -

10

9

13.03.01.024 x 6

13.07.01.093 x 6

13.01.01.247 x 6

13.02.01.017 x 6

M6X20 
13.03.01.026 x 6

6x
13.10.01.339 x 6

13.07.01.093 x 2

13.07.01.016

13.07.01.441

13.07.01.440

18.75.1705.056

13.07.01.016

13.07.01.016

13.07.01.093 x 4

13.03.01.035 x 4

13.07.01.093 x 2

18.75.1705.251

18.75.1705.251

18.75.1705.252

18.75.1705.256

18.75.1705.256

18.75.1705.255

M6X40

M6X40
13.03.01.035 x 2

18.75.1705.254

13.06.01.190

13.07.01.016

13.03.01.023 x 2
M6X15



- 8 -

11

!

13.07.01.016

13.03.01.039 x 4
M6X55 


